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Challenges

Jack’s numbers could be 1145 to 1154
Whitney is incorrect. 2,567 rounded to the nearest 100 is 2,600.
Teddy has forgotten that all the digits to the right of the number rounded become 0. 
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A
1250
2700
3130
4460
5580
21a) 3570
b) 3600
22 a) 2830
b) 2800
23 a) 7440
b) 7400
24 a) 4710
b) 4700

6 4380
71720
8 3230
9 2950
10 5810

11 400
12 200
13 800
14 100
15 900

25 a) 6160

b) 6200

26 a) 8350

b) 8300

27 a) 5090

b) 5100

28 a) 9270

b) 9300

16 3900

17 2500

18 9500

19 1700

20 8100
29 a) 1680
b) 1700
30 a) 7980
b) 8000




image2.png
B

14630
27170
325390
438710
5106240
6 391960
7 3800
847100
9 15400
10 30200

C
1a) 75340
b) 75300
2a) 10840
b) 10800
3a) 104100
b) 104100
4a) 832530
b) 832500
5a) 3543280
b) 3543300
6a) 362700
b) 400000
7 a) 219300
b) 200000

11 572700
12 180400
13 22000
14 53000
15 16000
16 170000
17 330000
18 477000
19 60000
20 100000

8a) 545500
b) 500000
9a) 173500
b) 200000
10 a) 497100
b) 500000
11 a) 1821900
b) 1800000
12 a) 5984400
b) 6000000
13 a) 4606200
b) 4600000
14 a) 7938500
b) 7900000

21 50000

22210000
23 670000
24 900000
25 900000
26 600000
27 400000
28 200000
29 900000
30 600000

15 a) 2050800
b) 2100000
16 2) 1700000
b) 2000000
17 a) 5500000
b) 5000000
18 a) 2800000
b) 3000000
19 a) 3300000
b) 3000000
20 a) 8000000
b) 8000000
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Scare at Shadow Fair

Answers

. Number the events from 1-5 to show the order in which they occur in the text. The first one
has been done for you.

The man took a small box out of the trunk.

The wagon stopped in the field.

The man chose some bottles of liquid.

The man lit a candle inside the wagon.

The man poured a potion onto the skull.

. Draw four lines and match each object to its describing adjective.

toxic valley
crystalline scheme
windswept skull
sinister mist

. Find and copy one word which shows that man’s fingers were old and crooked.
gnarled

. Find and copy a simile which describes the brass key.
(long and twisted) like a skeleton’s finger

. Read the paragraph beginning ‘Inside the wagon...’. What magic does the man perform in
this paragraph?

The man lights a candle by clicking his fingers.

. He placed it onto the table extremely carefully, as though cradling an old friend... or a
sleeping monster.

Why do you think the man is treating the box so carefully?

Children's own responses which refer to the crystalline skull inside the box being either
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important to the man or dangerous if dropped.
. What do you think the man's spell does? Explain your answer.

Children's own responses which suggest that shadows will be brought to life to work for
the man forever without needing bodies.

. What impression do you get of this man? Copy down the words or phrases that create this
effect.
Children's own responses which are justified, for example: ‘I think that the man is evil
and scary because he says he is planning a ‘Halloween fright’ and then he pours potion
onto a skull’; T think the man is magical because he clicks his fingers to light a candle’;
I think the man is old because he has ‘gnarled’ fingers and a ‘toothless’ grin'.




